A 2 o & A

Al A

20258 =0ila eI EXl2e| ot
A EXlZel
I EXdE dig 2
Col: DMZAlS NHHY A (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXl2te| ot 10,554,884 10,184,769 370,115
= 6,380,078
e 99,000
= 3,890,779
= 185,027
EXE dalgt 28 10,474,624 10,100,589 374,035
= 6,380,078
e 99,000
= 3,810,519
= 185,027
oMSHe XHAH 8 1,476,865 929,960 546,905
= 649,000
[ 827,865
Az =4 31,475 32,750 N1,275
201 er2 3| 31,475 32,750 A1,275
01 AtR2te|HI 11,475 12,750 A1,275
OEX2ell 42t A2 28 11,475
02 s3=gHl 20,000 20,000 0
OLEE ¢35 ALY S 2l 20,000
ANEESH AU 24 20,000 20,000
201 er23 | 20,000 20,000
03 Ar=EHI 20,000 20,000
OXH=3AU3 29 20,000
A& 2t 878,600 579,000 299,600
= 649,000
& 229,600
202 04| 7,500 7,500 0
= 7,500
01 =LHA LI 7,500 7,500 0
OXIH 2t 7,500
= 7,500
308 XXM SO0IH 871,100 571,500 299,600
= 641,500
== 229,600
01 XN BSELES 871,100 571,500 299,600
OXl 2l 67,500
= 67,500
OAx2 UISEEX A 182,000
= 130,000
== 52,000
OUXAE JHl & 2eMAl 2= 621,600
= 444,000




2A:

EXl2e| 1t

MM ENBE MF5 7
e DASHe NEEE 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 177,600
KNEERERX ALY S22 6,000 5,500 500
201 et 3| 6,000 5,500 500
02 S3=gHl 6,000 5,500 500
OXNEERE X 2elAAE KX 2 6,000
NES & S 219 KAl 28,000 30,000 A2,000
201 er23| 28,000 30,000 22,000
01 At2t2ltl 25,000 25,000 0
OXNAAOILE & AR A32 S KA 25,000
03 A= SHI 3,000 5,000 /2,000
OXIHEel & JI8A S Iz 3,000
ANEZS G UBAMECIR2ACIAAE 22+ 12,790 0 12,790
201 fer=3| 12,790 12,790
02 s3=gHl 12,790 12,790
NEE=SHBHAE R 2EeAIAE |
e 12,790
CXE NE=2dn Seael AL 2= 500,000 500,000
207 ARl 500,000 500,000
02 MAHHZHI 500,000 500,000
OUXE NH=24d1 sgatel AIAE #
= 500,000
EXEMAY X 1,172,678 1,227,048 A\54,370
= 1,064,078
= 108,600
HEXNSAKDIL 22IAAE RA24 17,000 16,200 800
201 =3 17,000 16,200 800
2 S52g4l 17,000 16,200 800
OHEEXSAIXIIL 2elAIAE 2tel 17,000
IHE S AIXIDFEALKI S ALS 1,067,078 1,091,428 N24,350
= 1,064,078
== 3,000
201 er=23| 6,000 6.000 0
= 3,000
< 3,000
01 AtR2t2|HI 6,000 6,000 0
OMESAIXIIE ZAKE AL 6,000
= 3,000
= 3,000
308 XX HMSO0IA 1,061,078 1,079,428 18,350
= 1,061,078
01 MAHHBSEEXS 1,061,078 1,079,428 18,350
OMESAIXIE ZAKE AL 1,061,078
= 1,061,078




M EXlZelnt
M EXHEY XS 2
ol EXFEBAY X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SUSHAL A== Y 3,360 3.120 240
201 er23 | 3,360 3,120 240
2 35234l 3,360 3,120 240
OSUSIHAL A=1F OHLY 3,360
SPSAAE ZLHEH 29T 10,000 10,000
201 er=23y| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
ORSMAE 2LHEH 23 10,000
FH ety =5 MHIA 29 75,240 100,000 N24,760
201 2= 2,640 19,000 16,360
01 At22t2lt] 2,640 19,000 216,360
=& OrAIoF &8 AMHIA 2F 2,640
202 04l 1,800 3,000 21,200
1 =3O 1,800 3,000 21,200
O=% otaef =8 AMHIA 2 1,800
308 AXIMS0IA 70,800 78,000 AT7,200
01 HRHHBSEEXS 70,800 78,000 AT7,200
O=8 otAef =8 MHIA 2 70,800
SHEE Jlge=s 1,528,490 1,940,998 A412,508
= 412,000
= 931,463
= 185,027
ANHE NS (FIH2) M= 269,328 370,998 101,670
=S 84,301
= 185,027
401 AIEHIZL SR THY] 269,328 370,998 101,670
< 84,301
= 185,027
01 Al&HI 264,328 361,498 A97,170
OAAE FANSH(Z0t2) M= 264,328
= 79,301
= 185,027
03 A2 THYI 5,000 9,500 4,500
OAIAIE EMNIE(FIIZ) MA (=€ & =
) 5,000
oot SAUHEE =FA 412,000 506,000 94,000
= 412,000
403 MR HHMSAHE01H 412,000 506,000 94,000
= 412,000
01 AR A =2 £ 412,000 506,000 94,000
Odfol= SAFE =33 412,000
= 412,000




2A:

EXl2e| 1t

g EXdE dig 2
Bl SAUEE JERR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SUEEANAH RXE= 380,930 319,000 61,930
201 er23 | 248,930 319,000 A70,070
2 35234l 248,930 319,000 A70,070
OSUEEAAY SE RAE= 16,400
Os8Ee Se=HE RAE= 232,530
308 AtXIEHMSOIE 132,000 132,000
183 S| 2SS B4 XA AIE 132,000 132,000
OUXEEZ SHMEE NHALE XL
- 132,000
S22 XIStAIEE Hatst 466,232 745,000 A278,768
403 AXIEHMSXH=01& 466,232 745,000 A278,768
01 A2 2L 466,232 745,000 N278,768
O==2% KIotAIE=E Hatst 466,232
C2HEFA J|PAS 980,127 781,335 198,792
e 99,000
= 881,127
FAEEAIE HZAN & FH| 317,127 257,127 60,000
308 AtXIEMSOIE 317,127 257,127 60,000
01 HAHHBSEXRS 317,127 257,127 60,000
OFAEEAIE 2MZAL & FH| 317,127
29 C2HE HH ZX 20,000 20,000
403 TR SHMSAH=01H 20,000 20,000
01 AR A= 2 £ 20,000 20,000
OFg=238 N& £X 20,000
=N ESsE M £X 99,000 99,000 0
ES 99,000
403 TR SHMSAH=01H 99,000 99,000 0
E 99,000
01 A= E2XE 99,000 99,000 0
O=JHE8d¢ad M £X 99,000
e 99,000
FAZEAANAE RAE+ & 2 60,900 55,377 5,523
308 AtXIEMSOIE 60,900 55,377 5,523
18 SIS0t HAS A 60,900 55,377 5,623
OFAFE2ANAEY RAES & 2 60,900
FAaZE0|2 s At 223,100 202,831 20,269
308 AXIHMSO0IA 223,100 202,831 20,269
13 SI[2S0He & A AS A 223,100 202,831 20,269
OE2&F4 JI2k st Al 223,100
CedFa 82 24,000 30,000 26,000
201 er23 | 24,000 30,000 26,000
01 At2teltl 24,000 30,000 26,000




2A: EXZ2|
M EX|HE A—IX§|— s
B9 CREEL |HRS (el @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| O==2zxs 222 A% 24,000
ANSFAE HE AX] 45,000 105,000 260,000
403 XX SHHSA=01H 45,000 105,000 260,000
01 X SHA=EEE 45,000 105,000 260,000
OAS2F=28 HIE & 45,000
LED AIEE HE¥s i 4 131,000 0 131,000
403 XSS K201 131,000 131,000
01 XEXISHI A =22 & 131,000 131,000
OZMXAS EHYZ LED AUEd HEavsH A
X(E=2IEN) 75,000
Odlidled ¢& L A8HsE AX(=0I&
o) 56,000
LHEAIMZ C2H 20 L =AEE I 60,000 60,000
403 MXISHHMSAHE0IA 60,000 60,000
01 X SHHA=ZE X 60,000 60,000
OUZEAMY T2Y 20 L FAHE 25(
COEN) 60,000
CIXE XNEA= 4,620,000 4,430,000 190,000
= 4,255,000
= 365,000
KETHZALAIY =& 4,255,000 4,410,000 155,000
= 4,255,000
201 B2 AY| 7,000 7,000 0
= 7,000
01 At22teld| 7,000 7,000 0
OXIETHZEAL A 7,000
= 7,000
202 Ot 3,000 3,000 0
= 3,000
01 =WOdbI 3,000 3,000 0
OXIZTHEAL At 3,000
= 3,000
308 AXISHMSOIA 4,245,000 4,400,000 A155,000
= 4,245,000
01 IXSHHBAEERS 4,245,000 4,400,000 A155,000
OXIETHZAL AFS 4,245,000
= 4,245,000
NEMEAL E 18,000 20,000 A2,000
201 L2 | 18,000 20,000 22,000
01 Ar22eltl 18,000 20,000 A2,000
OXIETHZAL EE 18,000
KEIEE LHZAL ALY 197,000 0 197,000
308 AXIHMSO0I& 197,000 197,000
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2A:

EXl2e| 1t

M EXHE &5 A
Chel: EE24HY JIEE 2= EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2

308 REXISHMSOIH 200,000 200,000

01 AXIEH B LAERS 200,000 200,000
OFAHE &2 012He M SHEAIS(ZE0) 200,000

AN 2HAHI(EXI2E) 80,260 84,180 23,920

[2ZUl(EXI2t2] D) 80,260 84,180 A3,920

Jl2Zdl(EXI2el ) 80,260 84,180 A3,920

201 B2 AL| 36,800 38,400 21,600

01 ArR222ltl 36,800 38,400 21,600
OEXZe| g2=& 36,800

202 Ot 36,800 38,400 21,600

01 =WO4bI 36,800 38,400 21,600
OEXze| gRFa 36,800

203 PR F=&IH| 6,660 7,380 AT20

03 AMIRMFRIHRFAIH| 2,880 3,600 AT20
OEXlzte| gfFa 2,880

M FA2IHRFAL 3,780 3,780 0
OEX2elt 3,780




